TRANSCEIVER CW F8EOZ - Audio Amplifier - Darlington

pair stage - V 30/12/2012 12:40

Rg Vce
--- Operating Point --- AF_in vi
V/(vce): 13.8 voltage
V(p): 1.48705 voltage R2
V(db): 1.48705 voltage
V(de): 0.278174 voltage 13.8V
V(dc): 10.9866 voltage SINE(0 1mV 1K) 1k
V(eg): 0 voltage ACO
V(af_in): 7.43527e-017 voltage
V(af_out): 5.16371e-013 voltage
1(C3): 9.49957e-020 device_current L } } IAF_out >
I(C2): 5.16371e-016 device_current 47 11
1(C4): 1.48705e-018 device_current c3 R1 .include 2n3904_darlington.lib & AC1
I(C1): 1.30742e-017 device_current
I(Rg): -1.48705e-018 device_current — %
I(Rload): 5.16371e-016 device_current 300k
I(R2): 0.00281338  device_current 10
I(R1): 3.16652e-005 device_current n Db 2n3904_darlington
I(Re): 0.00278174  device_current
I(Rvla): 3.16397e-005 device_current
I(Rv1b): 3.16394e-005 device_current
1(V2): 1.48705e-018 device_current
I(V1): -0.00281338  device_current Rvla
1x(g1:C): 0.00278171  subckt_current
Ix(q1:B): 2.56506e-008 subckt_current _m)* _ . . .
IX(QLE): -0.00278174  subckt_current ca {(1-m)*50k} .PARAM BF=150 ;mesuré au multimétre
.PARAM m=1-1p .step NPN 2N3904(BF) 150 200 50
AF_In—{ .STEP PARAM m 0.1 0.99 0.3 8
1p RV1b

;noise V(AF_out) V2 dec 10001 10 10Meg

.net I(RLoad) V2
.options plotwinsize=0
;tran 0 10000us 0 50.0ns
.ac dec 10001 10 100k

0p

{m*50k}
Data compression OFF

Résolution de fréquence = 1/20us = 50KHz
Nombre d'exemples = 20us/0.1ns=200 000
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